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Example continued

Minitab output looks like

Regression Analysis: % Fat y versus Age (x)

Estimated y intercept a

The regressi egquation is Regress|0n line
[$ Fat y =[3.22 h”o 54B]Age (x) |

Estlmated slo
Predictor Coef SE oef P
Constant 221 5.076 0. 63 0.535
-"'Jc>hge (x) 0 5430 0.1056 5.19 0.000

S = 5.754 R—Sq_— 62 7%

Analysis of Variance esidual df = n -2

Source DF =3 MS F
Regression 1 891.87 891.87 26.94
Residual Error 16 ~ 529.66 33.10
\ 2
Total 17 4/1421.54 ) S
33 SSTo Z-?-Zoééﬁkes%ge.adivisimu From Leaming, Inc.
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